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2025
- CHEMISTRY
(Skill Enhancement Course)

Answer the Questions from any one Option.

OPTION-A
Paper : CHE-SE-4014
( Analytical Clinical Biochemistry)
OPTION-B .
Paper : CHE- SE-4024
( Green Methods in Chemistry)
OPTION-C
Paper CHE-SE-4034
' (Pharmaceutical Chemistry)
OPTION-D
" Paper : CHE-SE-4044

( Chemistry of Cosmetics and Perfumes )

OPTION -E
Paper : CHE- SE-4054
(Pesticide Chemistry )

OPTION -F
Paper : CHE-SE-4064

( Fuel Chemistry)
Full Marks : 50
Time : Two hours

The figures in the margin indicate

full marks for the questions.

Answer either in English or in Assamese
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OPTION - A
Paper : CHE-SE-4014

(Analytical Clinical Biochemistry)

1. Answer the following questions :

1x4=4

oo ePTIRS Oed il

(a) Albumins are

(b)

BO4FC 0131

QERfPTR 25

(i) ~Water soluble simple proteins

PAfre TRNT 791 2B

(ii) Fat soluble simple proteins

b3 TR e & , |
(ii) Conjugate proteins : ' |

LA efﬁa_ |
(iv) Derived proteins

et Ao

Lactose is composed of and

@EFE i @ afdo|

(c) Numerical changes in chromosomes are

called, ;

AT SMAOT AP @ 7wy

(d) Fats and carbohydrates both are
composed of carbon; hydrogen and
oxygen. But fats are poorer in the

element

2 oY o FLREPES g [Reidg a1,
RBG TS S, SR a|l e [ o

“mifo 9 sAREae 45 Gt T
) Carbon =~
I
(i) Hydrogen
QRY TS
(i) Oxygen
Sl
(iv) None of the above
@7FF @HI8 TTW
BO4FC 0131 3 Contd.



2. Answer the following questions in brief:

2x3=6

O SHPTIRY bGP Oed il

(@)

®)

(c)

3. Answer the following questions

What is called ‘rancidity of Lipids’?
‘Freres @ HReh Ifme & @il ?

Mention the basic dissimilarities in
structure between DNA and RNA.

fB. 7. 4. T o=, @7 @, 7 S 2t A5
(T CRIPTIE Srad <54 |

How does pH affect on 'enzyme activity ?
What is called optimum pH range ?

T3 feralT @sig® pH (@ s efelq R
P2 eqgeron pH Sl ST {2

! (any two)
o9x2=10

O SEPTRS USSRl : (Rireret g3)

(@)

(b)

What is biocatalysis ? How is it
important in green chemistry ? 2+3=5

Z@ﬁ@ﬂﬂﬁaﬁs?m@@wwmmﬁw

What are the Chemical Components of
nucleic acids ? Explain,

2+3=5

B0O4FC 0131 4

(c)

(d)

ﬁ@%aﬁwammﬁﬁ@m%ﬁww
el

What do you mean by Epimer? Is
fructose an epimer of glucose? Give
examples of three epimeric pairs of
glucose with their individual structure.

] £3=5

e e [ gt g qas’@ﬁf“ﬁwﬁw
@2 ges o T 2T Tuiese FiRes
ATORFE 90719 (0O wife 41|

What is the minimum and maximum
blood sugar level in normal human
body ? How can we calculate blood-
sugar level ?

AEEITE N 0T 6 R o e

Twon Tl R i 2 wifsl Rves Ie7© w59
it A SR e

-Answer any three of the following

questions : 10x3=30

weis fATACAr fofaor 2T ﬁm e

(a) What is DNA replication ? Explain.
DNA Sgroiiae 2 e 1

B0O4FC 0131 S Contd.



(b) What is meant by genetic code ? Explain () Write short notes on: (any two)

it. What are the properties of genetic ‘ 5x2=10
Codle s _ 53 Bt forll + (RTiTant 7on)

L NN DI TSl ) (i) Blood coagulation process in
e iR @ 2 | human ;

(c) Discuss in detail about classification TR (R (9T & DO el

of Protein by giving suitable examples (i) Mechanism of Lock and Key theory
of each class. _ {5 of enzyme action

Toige Trizees oire oo e fiRereme fea Bered wol-gf woane ki
el Sl |

(iii) Structure of prdtein

xplain “Th tral do f ,
(d) Explain e central dogma o ' _1’ . Ao

molecular genetics.”
' (ivy) Liposomes

qeifae Rra R (@@ seam 2 i
sl BEE ‘ 2 . B TR

(e) What are the major components of
urine ? How can we differentiate the
normal urine from pathological/
abnormal urine in case of Hepatitis-B
virus infection in liver ?

T4 i GoAmITR (& 62 wifet (eices oo
(2I520%-B ©iRal A crge Freiia S
- eI/ QIS a9 #A1e el iR At

BO4FC 0131 6
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OPTION-B
Paper : CHE-SE-4024
( Green Methods in Cheniistry)

1. Answer the following questions : 1x4=4
©ol] SAPTRY ©eF 1
- (a) metal causes “itai-itai” disease.

(Fill in the blank)

M o320l @RE I = |

(e 912 o o) -

(b) Write the formula of phosgene gas.

TRG (%] ALPS fordli |

(c) Chloro Fluoro Carbon (CFCs) are
responsible for depletion.

(Fil in the blank)

FIFTLIG (CFCs) e @ |

(3T 312 77 F9)

(d) Which gas was released in “Bhopal Gas
tragedy” ?

G (1% (GUeS @ﬁscwﬁ%m‘m?

BO4FC 0131 8

2. Answer the following questions : 2%x3=6
oo erisTyze e ol ¢
(@) Mention ﬁuo merits of ionic liquids.
o e 7 R S

(b} What are renewable and non-renewable

resources ?

TR S SR A 2

(c) What is bio-diesel ? Give one example.

AfereE 52 b Tred @

\
l L' 3. Answer any two questions of the following :

5x2=10

- foefee erptges Sies s’ Rrpear 757 e Sex
IGRIE

(a) What is met haemoglobinaemia ?

a5 Rt &2
(b) Write about versatile bleaching agent.
A &R arerss R o
BO4FC 0131 9 Contd.:



(c)

Describe the green synthesis of the

following compounds. 24 x2=5

T i A T SHeCarer SR <00t

Eaill

(i) Paracetamol
IO

(i) Urethane

BT

(d) Write a short note on sustainable
development.
T Cwee R @it Gt v
4. Answer any three questions :' 10x3=30
O] Rizicar fofabra Teq faar
(@@ What are organic and inorganic

plgments ? Mention their dlsadvantages
in comparison to rightfit pigment.

6+4=10
(&9 91 ed IGFAR 57 I3RS q659
TS B9 SPRUIAE S 7|
B04FC 0131 10

i
_I|

(c)

(d)

(e)

BO4FC 0131 11

-(b) How to design a green synthesis ?

Explain.

(TG FAKCERCT T (AT ORI 1 272 i<l
SR

What is atom economy ? Who developed
the concept of atom economy ? Discuss
green synthesis of ibuprofen in terms
of atom economy. 2+1+7=10

oY Fregfel /e -9 SewRier gRa!
(I ST SRS R ? S22l (e (1o
FReaRe ferf sty oo acase fRaw
A S

What are green solvents ? Explain water

.as green solvent by taking four suitable

examples. 2+8=10

m@cmﬁﬁwﬁﬂ%ﬂq—w’aww—
AT ETCE TS RoiTst i <41

Discuss the use of antifoulant in the
field of environmentally safe water
transportation.

AfTa= ﬁl-jﬂi.ﬂ G offedgae 9T @il

AFoE v R S 4 |

Contd.



(f) What -are--“Solvent less” reactions? -~ . OPTION-C

- Mention its advantages. = 2+8=10 L Paper : CHE-SE-4034
. BRRA iiiﬁrﬁz{lcqlq ﬁs? B W L (Pharmaceutical Chemistry)

- = N |
' 1. Answer any four questlons from the
followmg : 1x4=4

(a) How.many ‘numbers of N atoms are
present in vitamin B2 ?

. | %BiﬁﬂBg@ﬁwmﬂ\WNWﬁW?
5 . (b) What are NSAIDs ? |

.f | | NSAID MG & gae
. ’»!
- ! ":{3 “(c) What is fermentation ?
el - R ofem (sz‘rm) R=e

(d) What is meant by a lead compound in
" medicinal chemistry'?

3% T REe S @t (e aﬁet)
q%m%w

(e) Define chemotherapeutic index.

@URRIPEE eI e

() Write the name of two enzymes involved
in the fermentation of glucose to citric
acid.

BO4FC 0131 12 BO4FC 0131 » 13 . Contd.




| PFER o[l oiT WfRe @@ faw afee

(FIRCIEE ) R @ 757 SeEHIa A
&l |

(99 What is the heterocyclic ring system
present in vitamin C?

fOIRA C 2l RORBRE R & 20
(h) What are barbiturates ?

ARBEES IR 7 a2

Answer the following any three questions :
2x3=6

RO o o o o e | W 0 O e e B

(a)  How many numbers of stereoisomers
are possible for chloramphenicol ?
Which isomer is responsible for
antibiotic behaviour ? Draw its
structure.

F IS (F251 (BRe@IDT T 2
(IS I e GFGARF R 2t Wi
2R o1 i |

(b) What is the heterocyclic ring system
present in vitamin Bj, ? Write the name

of a disease that occurs due to the
deficiency of vitamin Bj».

B04FC 0131 14

RG] B, © 25 2R I EEEAENO] 153 °?
 fSOIfRA B2 7 wreRT St & @@iw 29 i 2

() Name the prodrug of dopamine ? Why
cannot dopamine be administered
directly ?

AN Wit 8y (gl & e ez
7 At ore SRT @RIE?

(d) Define agonist and antagonist drugs.
Give examples. :

QTR S GBI B B¢ e 5 et 2 Swiewel
|

(¢) What are meant by hypnotics and
sedatives ? :

AT oI woifte Wi & @ e

(/) What are analgesics ? Write the name
and structure of an analgesic drug.

GAETEDFER F 2?2 9B GTEhs Squm
T W 5o ALFe 7|

Answer any two questions from the
following : 5%x2=10

wete Tl exRER o[l Repira 7619 T 1 |

(@) What is leprosy ? Which bacterial
species is responsible for leprosy ? Write
the name and structure of an
anti-leprosy drug and propose a
synthesis for it. 1+1+3=5

B04FC 0131 15 Contd.



MAS 5 =2 @Gl @ERa St ?*[51‘\5

" Gbw (A2 GOl GF-aie’sT S5 T o

oY ef® adiat g w1 |

GeT-3 DIl WibTH 913 e S5y 91 | 77
ﬂ%ﬁﬁﬂ%@ﬁmaﬁmmww

R, RO

(b)) What are sulfa drugs? Draw the (e) What is meant by vita.min C leaching ?
structure of sulfacetamide. Under what Name two dietary sources of vitamin
medical condition it is being -used? C. Write the name of two bacterial
Write the name of two bacterial species strains commonly used for synthesizing
against which it is active. L-ascorbic acid through fermentation.

1+1+1+2=5 2+1+2=5

Blerel sl JieicE 5 3@ 2 STl fBoiRee s Tobifim C fafor e & o2 fovifim ¢ 3 70

o 4| R edifits @3 a7eE CREGI S A o7l | v eferraat et

T4 2 7h @AEREN AW B a Res G IRE GRS HeeFd mfow IS 757

SieTRlaBBIES AT = | , QCERAR = {7 |

. 1

(c) Write the structure of ibuprofen. How | () Write the structure activity relationship
L3

many numbers of stereoisomers are
possible for ibuprofen and which isomer
is therapeutically active ? Mention two
advantages of ibuprofen over aspirin.

(SAR) of penicillin analogues.

ARG TTT T ATl T
e ferat |

1+2+2=5 4. Answer any three questions from the

I3 T 1o TS (| WY e following : 10x3=30

0 (RS ZmINE AME W D ot [l eifREe A Riciar fofane Te = ¢
wizRER et Reme e gsiEifees e . :

(@) (i) What is the nitrogenous base

Wﬁiﬁ R3] @ﬁﬁfﬂ forat | ‘ - present in the antiviral drug

(d) Draw the structure of L-Glutamic Bcye v Lo Wthh. M

acid. How is it being synthesized by effective against ? Write 1§he name

fermentation process ? 1+4=5 of a prodrug for acyclovir. 3

B04FC 0131 ; 17 Contd_.
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- AFBEREE gl axiEg T U | | mmﬁ@?wmﬁm
 TIRG IR RS N e | iRy SiRa 1 - - TR I |
Relts T Torely ¢ «ﬂ%ﬁ?ﬁ gl ﬂﬁﬁ ' - .+ (B) Name two microorganisms
oty ' . that can carry out the
, ' : s ..+ fermentation. _ 1
| () What is a cardiovascular agent ?’ o T B AR ol R Az
. ‘Write bneﬂy about the medical _ : 5 AR 2
- condition in which glyceryl 7 ‘ . Eﬁ . ' ot :
trinitrate is used. Propose a . . (C) What are the nutrient
method for the synthesis of - substances added ? 1.
glyceryl trinitrate, 1+2+2=5 ‘ e . o
oS e () o oy L %%CWN‘#W?& |
mmw @R i | | ' : (D) Whgt is the optlmupm.pH
AReT R T B B o - range-for the process? 1
BizAiZEE oo darett 9ol Bt !Q‘g | ?WWWpHW
A ' , X ?
(i) How does paracetamol decrease S . . A |
the body temperature? 2 - (B ::)Vhat lstflh: ?Ptlgl}m -
, : . emperature for this process -
RIS (7 TRl e et v | > 1
(b) (i) In the industrial preparation of @2 fETR AR TN Taeo!
| ethanol by fermentation — S A2
eI : | (F) Why is addition of oxXygen
Ao M— - ' necessary although the
. : - . 9
(A) What is the startmg material | - process 1s anaerobic ? 1
and what percentage of sugar AP @maI[ T @A e
does it contain ? 2 - Sfew (ol ! R e
o BO4FC 0131 19 Contd.
BO4FC 0131 18




(@)

@0

Write the name of four food .

sources of vitamin B,. What is the
aliphatic side chain present in
vitamin B3 ? 2+1=3

~%Bgasﬁmm%§mmﬁw |
WBQ@WQWW Cﬁq

®e

What are- benzodlazepmes ? What -

is the trade name of the drug

" Diazepam? In what medical

condition this drug is being used ?
Propose a synthetic pathway for
drug Diazepam. - 1+142+4=8

eGP B ogere :

- wizgfiR AR 2 e & i

(i)

@ @

BO4FC 0131

g% (@9 GFBARRT e RSN

wREe @3 geikY IR wW omWe

TiRAfET GO R AT B |

What are thie essential requirements
for a compound to be an antibiotic ?
o 2

AT ITORTE [ e

What is meant by retrosynthesis?
How will it help to design a
synthetic route for a particular

compound ? Explain by considering

any drug molecule. 1+4=5

20

@W@W%W'@mﬁm

;'_wmﬁaﬁﬁm@i‘ﬁsmwm?"

o (i)

€ f)

ﬁmaﬁmhww:

Write bneﬂy about the development
of barbiturates. - . . 5

*'m@mwmmml

Provide two examples of ,6-
lactam an’ublotlcs with

| . structure.. Why are these

(@)

‘compounds named such? 2+1=3 .

ASTTZ T B- mﬁmaﬁmﬁww‘aﬁ-
Gz IRCEY cﬁmwﬁﬂ W
M me )

Draw the structure of cephalosponn
C. Name the two heterocyclic rings

~ present in its structure. Provide the

name and structure of the molecule

~ that is ‘the startlng point of

sermsynthetlc cephalosporins.
J1+1+1=3

s C T Bt T A

BO4FC 0131

! Yo ROITHIRES Rex A faan
e RersiRem e ZBI
w@mwmﬁm
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(iti)

category of antibiotics.

- ARRAIZFTIRE GfSrfoe e [ gal?

“What are aminoglycoside anti-
‘biotics ? Give ' one example.

‘Mention two adverse effects of this
1+1+2=4

<t Tz | @} ®ee ofoEfe
Rt 77 STt fmm Bt

) Let us consider the commercial

production of penicillin i a fed-batch ‘

" reactor by fermentation.

R gy M

IR ffhR IRRrTeR age = =)

()

(1)

Which are the fwo main species

used for fermentation? 2

fFaw feFmre @R 707 s Rets

Which between those two is used
mainly and why ? 2

'.;mi‘vmz@a@mm@f%@swm
uiE e

(i)

(iv)

BO4FC 0131

What is the source of carbon? 1

T IR e [Fo

What is the source of nitrogen ?
O G BT T 2

22

L (v)
(vi)
i

(9 @)
(i)

BO4FC 0131

What pH range should be
maintained ? 1

' pHY R Res 21 Mot 2

What chemical compounds are
used as precursors for production
of penicillin V and penicillin G ?
Give their structures. 2

CiRfRR vV i ¢ifffm G ewe
acnéﬂ—mwmwmﬁasmﬁwm?
ﬁﬂﬂ‘mw@r‘m: -

Which chromatograph1c technique
is used to monitor the product10n
of penicillin ? 1

ifRblemT owe adem weid R

PR (PRGSO WW |

| A

What is retrovirus ? Give example.
2

/o B B Tate T
Write the structure of

azidothymidine and mention to
which class of anti-HIV agents it

belongs. 2
e siR'Y o Aol FRl wie

2 @M GfG-HIV TR SR,
T =1 |
23 | Contd. .



g

(iii) Starting from D-mannitol as the
easily -available source for the
construction of the sugar
nucleus, describe how
azidothymidine can be
synthesized. 6

- AN FeeeTe) U f2hiedt
o7 TR e SRRIGA (FECF g T
77, 1 1|

() What are sulphonamides?
Mention two uses of it. Describe a
method of synthesis of it
considering aniline as starting
material. Give one adverse effect
of using sulphonamides.

1+2+4+1=8

QT ARSI [ 22 Z 70! TR
T 9| G Y[ e H9Eize
(FEE 2FO 9 W2 QeT AGNLG

| RS <O Tt feE e
(i) What is co-trimoxazole ? 2
Co-Bizsrgitene Jfeicet & el e
B0O4FC 0131 24

OPTION-D
CHE-SE-4044
( Chemistry of Cosmetics and Perfumes)

Paper :

1. Answer any four questions from below : :
wete fadl 2rs Rizwizan bif<619 T 41 ¢

- (i) = Write the basic purpose of using face
powder. _ |

PO AN IS T I+ Sty b e
(i) Why is preservative necessary in
shampoo ? _
(T THFIS @6 7 TR FE?
~(iii) Is hair spray related with hair loss ?

@R (2R TS b “RE TG SR @[ 2

(iv) Name the essential oil used in cold and
- cough remedy.
Sz oI S TR T ST (S
|
(v) State the statement True or False :
SRets! o1 7 g o 5

Geraniol is a monoterpenoid.

ol Ry TBREE |

BO4FC 0131 25 Contd.



(vi) Why is 2-phenyl ethyl alcohol used in
perfumery
2-Reize iﬂnivr e Ry ﬁﬂﬁi‘m— W
Uk

'(i)ii) Name the‘vitamin wﬁiéh is related with
good hair growth.

WWWWW@@TW'

I B 4

. (viii) Mention the plant part from which

Jasmine oil is extracted.

(SHRN (S C_G'IWWW"*R?HTW@W@.

@WWI

Answer any three questions from below :

2x3=6

©oTS G <1 AR Rieeiean fofsiy T ol g
(i) Write two side effects of hair dye.

(I R IRTF W 757 - 7wl e SrEd |

(ii) Write two main constituents of a good
shampoo

ﬁﬁﬂﬂﬁmﬁ?@%@www|

*(iiij) Name one natural source of geraniol -

oil and mention its one use.

CoRIRE (9o bt AT Seag =1 fyay
2R IR B T ﬁan T

BO4FC 0131 - 26

BO4FC 0131

(iv) Mention two main types of face powder.

'zﬁvamwmm@mww'

-(v) Write two ‘natural sources of

2-phenyl ethyl alcohol.

.2 WWW@W@@W '
=l |

vi) Write two primar'y‘ mgredlents of
- lipstick. -
et gt e %ﬁﬁﬁ ot

Answer any two questlons from the

| following : . 5x2=10

oo Al e ﬁz«ﬁm o e ol ¢
(a) Define cold cream and vamshmg cream.
Why is cold cream used during winter
season and how does it work on human -
skin ?  2+(1+2)=5
7 forn wie (efik & I QI | 7
. forv e MrovrTe IR T T TR TR
@9igs B (@R o wae

(b) - What are antiperspirants and what is
.its main use° Write its one basic

mgredlcnt Wnte its two side effects.
2+142=5

27 Contd.



_’Wmﬁ?Wﬂ%mﬁ%‘mGJﬁ%‘ﬂRSNEmi?§m$1%q;,/
;wm?mmmqs{@wmr

g

(@

(e)

Wnte chemlcal composmon .of talcum

powder Why and how does it help |

human belng? '

‘How does hpst1ck work on hdman '

.skin? Mention four genume reasons

| how long-term use of 11pst1ck may harm

‘ human beings. . 1+4=5
T =TS Fioifess (e femmt e 2 Fere
mﬁmwwﬁmmaﬁam
o F5S s1F6 Pl S 3|

What is muscone ? Mention its natural
source. Write its physical property. How
do human beings collect it from natural
source and use it ?
‘ 2+1+2=5
mﬁ’amﬁs ?WW@QW@WWIW

c@%wﬁmumwm@‘ww
WWQWWWW?

BO4FC 0131 28

(f) Which State of India has hlghest

. sandalwood 0il? - Mention ' four

important factors on which good -

~ composition of sandalwood oil depends.

' | R ' 1+4=5

,r—c«i@wﬁﬂiﬂ?mﬂ“w (e AR,
R 5yt <. SiieR Bee 4

4. Answer any three questlons fromi .the

followmg - o 10x3 30

(a) (1) Deﬁne essentlal oil. Mention the
basic technique of extracting
essential oil from nature. Mention -

" the special solvent Wthh is used
during extraction. 1+2+1=4
SRR (9T I RITE v [ s ot
RGP (ST SIRINT [ A0

O | (O SRR AR IR Ry

. TRI] 9N TER 1

(i) Mention how human beings use
the following essential oils. for
their purpose :
(1) Civetone, and (2) Eucalyptus oil.

2+2=4

e oere ud ot Fes IS
(RACS 9T A e ¢
(1) Bfews, we (2) ToCEEABE (Sl

BO4FC 0131 29 ' Contd.



(b)

B0O4FC 0131

(i) Write two basic ways by which

(1)

(@)

human beings use essential oil.
2

439 Trmd T4 | Y

Mention three methods by which
- rose oil can be extracted. Which
type of rose is mostly used for oil
extraction ? In what different ways
rose oil may be used ? Mention one
chemical compound generally used

alternative of rose oil.
3+1+2+1=7

Gl (o SRR Y [ oS

TEd 9| (FEES (sliEtet 93 (o
WEFE @ TAYS ? (o (ool [ &
I LR I A1 2 (Sl (oo Tl
92T T RS @GR 9N SrEe
1|

What the is the purpose of using

shaving cream ? Mention two -

alternative compounds of shaving
cream. 1+2=3
ofer @ a=is 7 Somy Je ofoe
e i R 3R o gRe e

AW @ ]9 |

30

© )
(i)

(iii)

@ )
BO4FC 0131

Write four chemical compounds
present in good/best face powder.
- 4
Tew e g AwRS IJ7TS 5IFEY
ARG (9 T S T |

What is the best sources of
eugenol oil in nature? What
method in adopted for its
extraction ? How men use it?
1+1+2=4
G Rme (oo e AiFes B & &l |
B SIRTed AR T SR/ A=l T2
27 MR T[T (A I T2
Write the names of two good
thickeners used in a good
shampoo. ISE1=2
e (ZfF TG IR IS 70 O
TCIoR A | EL o0
Why is using hair spray
necessary ? How is hair spray
related with health of hair ? Write
three differences between hair
spray and hair dye. 1:1+3=35

@R (2 IR TR e [
pfe™ g S, (AN (BRI
(@R (R (R O (R RS

fofabr st o
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(e)

(ii) - Write about the therapeutic use
' of different essential oils. 5

Rfen wrPE oo m{@ﬁﬁsm
@RI IR R o) v

() What is na11 enamel’P Write five
basic chemical compounds present -

in nail enamel. . 1+5=6

T AT 6 2 . GRITeTS Lt
TR G e o

(i) Mention two methods by wh1ch
analysis of essent1a1 011 is done.
' 1+1=2

Wmmwﬁmomml'

(iii) Write the basic difference between a

hair.removing cream and shaving
‘cream. 2

R RfeR ﬁrmwcsﬁﬁrm
ey Tt kg

Write in short about the followmg

5+5=10
v Al BT @oive o ot o
(i) Cosmetic safety
oI FatsE

(i) Purpose of usmg fragrance
materials

i TR IR RSS!

BO4FC 0131 32

(9)

)

BO4FC 0131 - 33

Chemically what is a nail polish
remover ? Mention five basic chemical
components present in nail polish

remover. ‘Why do people use nail
polish ? Write two side effects of nail

polish using. 1+5+2+2=10
AT 79 SFE Rarer /e 79 s
WWWWW@WW .
wummmﬁsﬁzm@ams’mmﬁw R
val WWWI -

What is suntan lotion ? Place four
strong opinions regarding the use of

suntan compounds by human beings.
‘ 2+(2x4)=10

Wﬁ’%ﬁs 9&1@%%&%@%
IR R 51/ - Wﬂmﬁml
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OPTION-E .
Paper : CHE-SE-4054
(Pesticide Chemistry)
1. Answer any four of the followmg questions :

1x4=4
oo TR Rl Brﬁr?‘ra Tex ot ¢
Choose the correct one :
% GGICH! AR Clorsdr &
() Which of the following is not an
organochlorlne pesticide ?

TE (IO Cere [l Foers e
(A) Malathione CTENARN
(B) DDT - R

(C) Aldrin = <G

(D) Endosulphan &R

(ii) The chemical used in ‘National Malaria
Eradication Programme’ is

G R A SRS TR amzrﬁas
@iy e . -

(A) B.H.C R.azz®

(B) DDT A

(€ 2,4D  2,4%

(D) Pyrethroid  9If3327%

BO4FC 0131 34

(uz)

| )

BO4FC 0131

Natural msect101de obtamed from neem
leaves is -

ﬁwmww«iwwﬁﬂmﬁﬂ

=
(A) -Azadrirachtin

GG

(B) Nicotine

- o

(C) Lawsone .

GEC

(P) Ecdysone

mﬁs’ﬂ

Identify the weedicide among the

following :

wﬁammwwwwwzsﬁam
4l 3

4) 2,4D

2, 4-%
(B). Parathion
(PRI
(C) Chloranil
F Qe
(D) Sporein
SHGED
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(v). ’é‘ﬁﬁdpesti?ide used in foundation of
ings fo ing ;
s g '.1' preventmg termite attack

cSfe eicatst 31 FoamieRy =
(A) Gammaxene | ‘
o e
(B) DDT
(C) . Aldrin
(D) Endrin
(vi) Ratenone is a/an
TGN Lo Gk
(A) insect hormone
6 20
(B) natural insecticide
NPT FioMe

(C) bioherbicide

NN

O P
(D) weedicide
A

BO4FC 0131 36 .-

(vii) Alachor is an - |
R Ry
" -‘(A) . organophosphate pesticide™
| (B) - anilide pesticide
| (©) “drgaﬁbchloring pesticide
R
e (D) None of the above '
(viii)‘Ca‘rboft_;lran' is used as |
(A) an agricultural peé{icidé
R FRTTe T Bt
(B) a fruit ripening agent
41 +{CPRl T Boieet
(C) a fodd preservative
4y AT o
(D) a moisturizing agent
wiforeRt sy 2ot
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2.

Give very short answers of the foilowing :

(any three) ‘ L 2x3=6
TS I 3 et B ot ¢ (et o)

i) _ What do you mean by herbicidés ? Give
one example. '

(i) Name two organochlorine pesticides

TR W’ﬁﬁﬁﬂm G - S st

() What are rodenticides ? Give an
example of commonly used rodenticide. -

TEEATAE QN 2 Ao ez R
TN’ SRl | o

(iv) .Can algaecide - be -considered as a‘

pesticide ? Which algaecide is used to
control algal blooming in ponds, lakes
etc?-

‘mﬁmmﬁmmﬁmﬂcﬁaﬁwﬁmé |

IRRY “CoTIRArIR %39 wiife ARers
&GO R 391 R | 7 e

(v) What. is the full form of DDT ? In which
’ class of pesticide it belongs to ?

fofelts o W B2 3 (e -
TIYE Ofe 2 T

<

BO4FC 0131 38

BO4FC 0131

.(vi) What is the mode of action of

rodenticides ? Answer briefly.

w%wm%m@m«a?mm: -

Explain briefly any two of the following : -
» : 5x2=10 .

ficsre R g R v B

(a) Use of Gammaxene as a pesticide

SRR FoAris Boitel IR

(b) Ofganophosphatc 'pesticides

‘() Methods of: pesticide residue analysis

FharRs SReIT Reswd «afe
(d) ijnthesis- of organophosphé.te pesticides
AR P epgo '
(e) Agricultural pesticides

T FoArT

Answer the following questions : (@any three)
’ 10x3=30

&R PTTR Tel  ¢ - (Rieateat fofbn)
(a) Define pesticides. Discuss in detail’

~ different classes of pesticides by giving
example of each class and their mode

of action.
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(b)

()

(d)

AR @l fBreit | o ma Rfoq
Gt Rl el TR i Srmiaera
e eI Sieeioa 2 |

What are organochlorine pesticides ?
Give chemical structure of any two such

pesticides. Write the applications of

some commonly used organochlorine
pesticides. How ‘can these pesticides
affect human health ?

TR el SIORTER 6 2 corerpa RICHIZT 7ies
IO TARRT 13 721 | <esToiE Gz
(PR e Rl o efis) Fvice
o7l | SR IO ML Gt S e

- oA BE 2

What do you mean by pesticide
residue ? Discuss its impact on human
health. Describe various methods of
pesticide residue analysis.

(oI SRR I 6 3012 T3 XIS 190 3719
SR ™A LA 4 | <
Rezers [ifem srafoomzs [ ez B

What is chloranil ? In which category
of pesticide it belongs to? Write its
molecular structure. Discuss about its
synthesis, uses and harmful effects in
detail.

T 2 2 (@ T oy orwfes
AR S oo il | B 2, e it
el eref R AR Sl 30 |

BO4FC 0131 40

MR

(e)

()

(h

BO4FC 0131

Explain in detail the benefits and
adverse effects of different kinds of .

pesticides.

fea FoIT TIPTIRS oS i [t ereid
TRfCS Rm i wife |

Differentiate between natural and
synthetic pesticides. Explain with
examples. Write about their advantages
and disadvantages in detail.

PO oIF MRS FHArF MET I
AreveTE SrREaz e ol | ey Ra-
SPIREPTIRY R fgeeiE il

Write short notes of the following :
(any two) .

woid fareic phre RA 5y (O fovan ¢
i) DDT oo

(i) Malathion  CTEEE
(iii) Chloranil  FJf
(iv) Alachor GRS

What are carbamate pesticides? Give
examples. Why are they used for?
Discuss about their toxic effects. How
can we analyze carbamate pesticides ?

TG FioArRTR 62 Sriggd [wal | @ g
Sl 50 IR =€ 2 R RAle ger

oo STl 9| SN e 9] IR
FivameTE R SR A2
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~ OPTION-F |
Paper : CHE-SE-4064
- ( Fuel Chemistry )

1 Answer any four of the followmg quest10ns

1x4=4

(a)'

(b)

What 1s the formula of producer gas? ?

o ﬁa—@m (TR IS TS R
What is flash and ﬁre pomt of

. lubncant ?

(@)

(e)

q@zﬁagﬁwmwﬁiﬁw

What do you mean by power alcohol ?

AR G iﬁ'ﬁ & g@re

Define octane number.

g AR @ |

‘Give two eiamples of antiknocking

agents.

GFHR m 55/ Trizadl ﬁ‘ﬂﬂ
Define calonﬁc value of a fuel.

S (T RER (oo 9@ Bl

BO4FC 0131 42

g) -

()

Define pitch )
foiveg ket 1 A

lee two examples of gaseous fuel.

cﬁ%smyﬁrwqﬁm

Answer -any three of the followmg
questions: ' . 2%x3=6.

(b)

(c)

(d)

BO4FC 0131 43

R ﬁmmz%ﬁw o B i
@

What are renewable and non-renewable -
energy resources ? G1ve one example of

‘each.

’ﬁmmmwﬁasmw@s@w :,'
.ﬁ?m‘ﬂm Wﬁﬁm o

How is coal tar formed"

G FECT Ao TW?

Write the differences between thermal
and catalytic cracking?

SR aﬁﬁs\wwﬂ%@n @RS »neramzm ‘

Mention two routes for the manufacture
of isoprene petrochemical.

wﬁsﬁﬂcﬂW‘WmﬂWm

' ofe SE
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(e) What is the difference between base oil
and additives ? :

I COF O @GRS 757 Aty 2|

()l Define ultimate analysis of -coal.

TN pOis Rtz 1w s5@ foyait |

3. Answer any two of the following questions :

: o9x2=10
ooTS Wl Riesica gl 2] S fm o

(a) How are fuels classified ? Why are fossil

fuels regarded as the most important §7
source of energy today? \

2+3=5

Wmﬁc&%wmp@m
QR 25 8 @Fg)d = S piest atefy
9 2F?

(b) What is coal ? Discuss briefly about the
compositions and types of coal.

2+3=5
T F2 3R 09 O [fen dore eoqw
B IR0 |
BO4FC 0131 44

()

(@)

(e)

. BO4FC 0131

Write short notes on the following :

; 2+3=5
53 (OIRA Tl ¢
(i) Coal gas
Tl (o
(i) Water gas
IR (91R
Classify petroleum according to thé

types of hydrocarbon.

e T 3 IR evTo fSfe TR
PG (ITiReEE i |

'What is hydrogenation cracking ? What

are the catalysts used for catalytic

hydrogenation process? 243=5

R GG (TR 2 SHR A 22 GUECS

& & SrEoe e 9 =2

Write shortly on aromatic

petrochemicals.

TS (GRS A @5 5 |
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4. Answer any three of the following
questions : 10x3=30

oo WAl R fofas e ey fax 3

(a) Classify petrochemicals with their
compositions. Describe the method .of
preparation of propylene oxide by
chlorohydrin process. - 9+5=10

o7 esiRe fofe TR/ (w5Fmimere Awde
TSI 41 | 3RS e aia asiiEm
THIRT AEeFIA I 9 |

(b) Describe the general properties of
lubricants in brief. How are lubricants
classified ? e 743=10
R AR GH@T TR [ | GRECERE
fFel (adiReree 1 2 ST 4 |

(¢ What is biomass? Briefly discuss

different types of biomass.  4+6=10

TR 2 [feq g IR 87T b3jrs
SO <A |

(d) (i) Calculate presence of percentage

of C, H, Nand S from the following

observations for a sample of coal :

5

B0O4FC 0131 46

(e)

BO4FC 0131 47

2.1t g -afcoal S ispburn s

combustion tu : The increase in

weight of anhydrous CaCl; is

0.53 g and increase in weight of

KOH tube is 5.73g. °

C, H, N 9% S-3 Soifgfoq *oaal AR

o AEEeR S|t A 4 8

2.1g T GBI TS w2 T T | TG

CaCl,-9 3ffs ©3 25 0.53g WIF KOH
- oI e © T 5.73g1

(ii) Write the positive aspects of
nuclear energy. S

RO e 4 s |

What is biodiesel ? How is biodiesel
produced ? Discuss. Write the
advantages of biodiesel. 3+3+4=10

IS T2 2AE @ AT T4 22
SiCeTv 41 | A et IR ARGIER B |

What is fractional distillation ? Discuss
briefly the principle of fractional
distillation. Explain the process of
fractional distillation. 2+3+5=10

wﬁawﬁf?iﬂﬁ’ﬂEWWW~
a0 | SR o Ao A 4|
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(g) How is viscosity of lubricant
- measured ? Discuss the importance
~of animal oil and vegetable oils.
5+5=10

q@wl‘% (5] A @FE [T w1t e
PSR I TSNS (oo AT Sieeroa 33 |
h AlV.Iention the effect of pressure and
temperature on carbonization of coal

tar. Write the negative impacts of
burning fossil fuels. = . 5+5=10

SRS WS blv Wi Tarol ool B

wnwmmwwmwm
Wﬁﬁmﬁmnl

BO4FCO0131 48 500



